
【コンプリートカーリファインパーツリスト】

機種 品番 品名 税込定価 税抜 2025/9/11時点在庫数

01464-XKPZ-000 HOSE SET,FRONT BRAKE 7,480 6,800 2

01466-XKPZ-000 HOSE SET,R REAR BRAKE 9,680 8,800 4

01468-XKPZ-000 HOSE SET,L REAR BRAKE 9,680 8,800 4

14110-XKPZ-A00 CAMSHAFT COMP,INLET 110,000 100,000 11

14120-XKPZ-A00 CAMSHAFT COMP,EXHAUST 96,800 88,000 9

17205-XKPZ-000 DUCT A,COMP 28,600 26,000 4

17803-XKPZ-000 SCREW (M4X14) 55 50 3

18002-XKPZ-001 BOLT,WASHER 55 50 6

32102-XKPZ-000 FUSE 5A 110 100 3

32103-XKPZ-000 FUSE 20A 110 100 3

32108-XKPZ-000 HARNESS,BACK FOG WIRE 13,200 12,000 47

33120-XKPZ-000 BRKT R,CONTROL UNIT 1,980 1,800 26

33130-XKPZ-000 BRKT,CONTROL UNIT 715 650 3

33170-XKPZ-000 BRKT L,CONTROL UNIT 1,980 1,800 2

33960-XKPZ-000ZB GARNISH L.,FOG 13,200 12,000 1

35180-XKPZ-000 SW ASSY.,FR/RR FOG 6,600 6,000 14

38210-XKPZ-000 HARNESS,AST METER WIRE 3,300 3,000 3

43251-XKPZ-000 DISK,REAR BRAKE R 17,600 16,000 1

45022-XKPZ-000 PAD SET,FR0NT 31,900 29,000 5

46543-XKPZ-000 STAY A(PITCH30MM) 220 200 2

51401-XKPZ-000 SPRING,R FRONT 15,400 14,000 6

51406-XKPZ-000 SPRING,L FRONT 15,400 14,000 5

51601-XKPZ-000 DAMPER ASSY,R FRONT 57,200 52,000 1

52441-XKPZ-000 SPRING,REAR 11,000 10,000 3

52621-XKPZ-000 WASHER,DPR MT RR 550 500 32

60116-XKPZ-000ZB DUCT ASSY R,HOOD ZB 22,000 20,000 7

60119-XKPZ-000 DUCT BRKT ZZ 4,730 4,300 1

60122-XKPZ-000 NUT M4 11 10 50

60124-XKPZ-000 TAPE,D0UBLE FACE ZZ 220 200 58

60130-XKPZ-000 LABEL,CAUTION HOOD 165 150 19

60166-XKPZ-000ZB DUCT ASSY L,HOOD ZB 22,000 20,000 3

62516-XKPZ-000 TAPE,DOUBLE-FACED 2,640 2,400 1

62531-XKPZ-000 EXPAND METAL A 9,900 9,000 3

62532-XKPZ-000 EXPAND METAL B 4,950 4,500 4

62533-XKPZ-000 EXPAND METAL C 4,950 4,500 4

62534-XKPZ-000 EXPAND METAL D 3,300 3,000 5

70250-XKPZ-B00 NEO-SPONGE(BLACK) 550 500 1

70261-XKPZ-000 FILM,PROTECTION 66 60 18

70265-XKPZ-B00 EPT SEALER(BLACK) 550 500 3

70319-XKPZ-000ZA SPOILER,R SIDE 36,300 33,000 1

71702-XKPZ-000ZA SPIL.,T/RID R.SIDE ZA 28,600 26,000 3

71704-XKPZ-A00ZA SPOILER,T/LID LWR ZA 39,600 36,000 1

71706-XKPZ-000ZA LID,R TRUNK SPOILER 2,640 2,400 5

71707-XKPZ-000 SIM PLATE 3,300 3,000 4

71741-XKPZ-000 TAPE,R DOUBLE FACED 1,650 1,500 6

71752-XKPZ-000ZA SPIL.,T/RID L.SIDE  ZA 28,600 26,000 7

71756-XKPZ-000ZA LID,L TRUNK SPOILER 2,640 2,400 5

72115-XKPZ-000 BOLT,BUTTON HEAD M8X20 385 350 3

RR



【コンプリートカーリファインパーツリスト】

機種 品番 品名 税込定価 税抜 2025/9/11時点在庫数

74115-XKPZ-000ZA FENDER TRIM A,R FR ZA 13,200 12,000 21

74155-XKPZ-000ZA FENDER TRIM A,L FR ZA 13,200 12,000 24

74175-XKPZ-000 CUSHION,BONNET ZZ 1,100 1,000 3

74515-XKPZ-000ZA FENDER TRIM A,R RR ZA 13,200 12,000 40

74516-XKPZ-000ZA FENDER TRIM B,R RR ZA 5,500 5,000 38

74555-XKPZ-000ZA FENDER TRIM A,L RR ZA 13,200 12,000 32

74556-XKPZ-000ZA FENDER TRIM B,L RR ZA 5,500 5,000 28

74611-XKPZ-000 TAPE,DBL-FACED L1840MM 1,320 1,200 5

74940-XKPZ-000 BUZZER 4,400 4,000 6

75700-XKPZ-000 EMBLEM,FR.MUGEN 8,800 8,000 1

75701-XKPZ-000 EMBLEM,RR.MUGEN 8,800 8,000 20

75732-XKPZ-000 EMBLEM,FR,RR 8,800 8,000 18

84116-XKPZ-000 BRKT A 330 300 14

84117-XKPZ-000 BRKT B 330 300 15

84120-XKPZ-B00 MOLDING(BLACK) 1,760 1,600 12

84142-XKPZ-000 TAPE,DBL-FACED L500MM 825 750 1

90101-XKPZ-000 NUT,SPRING 33 30 8

90201-XKPZ-000 VIS,TRUSS(M6X25) 165 150 72

90202-XKPZ-000 NUT(M6) 99 90 70

90203-XKPZ-000 SCREW,TAPPING(M6X16) 110 100 17

90204-XKPZ-000 J-NUT(M6) 132 120 8

90205-XKPZ-000 SCREW,TAPPING(M5X20) 132 120 26

90301-XKPZ-000 BOLT,UPSET(M5X10) 110 100 675

90364-XKPZ-000 NUT,HEX 12MM 275 250 68

90401-XKPZ-000 SPECIAL BOLT M6 132 120 2

90402-XKPZ-000 BOLT,CAP M6X20 165 150 30

90502-XKPZ-000 NUT,SPRING(M5) 418 380 15

90601-XKPZ-000 BOLT,HEX(M6X16) 165 150 139

90602-XKPZ-000 NUT(M6) 99 90 61

90603-XKPZ-000 WASHER A,PLASTIC 33 30 21

90604-XKPZ-000 WASHER B,PLASTIC 33 30 29

90605-XKPZ-000 BOLT,TRUSS(M6X16) 17 15 39

90606-XKPZ-000 WASHER 33 30 37

90607-XKPZ-000 WASHER,RUBBER 33 30 60

90608-XKPZ-000 CLIP 99 90 9

90702-XKPZ-000 BOLT,TRUSS 6X14 17 15 16

90703-XKPZ-000 BOLT,FLANGE 5X15 17 15 8

90704-XKPZ-000 BOLT,FLANGE 6X15 22 20 14

90705-XKPZ-000 NUT,FLANGE 6MM 11 10 2

90801-XKPZ-000 BOLT,TRASS (M5X8) 165 150 12

90802-XKPZ-000 BOLT,FLAT HEAD (M5X8) 165 150 12

91501-XKPZ-000 BAND,HARNESS(200MM) 55 50 10

91502-XKPZ-000 CLIP,HARNESS BAND 55 50 5

RR


